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	From an agrarian society to a service and knowledge society



Applied history:

Economic and social development project for a currently non-industrialized country (India)

To be considered:

Your knowledge

· about the economic and social development of Western Europe from 1800 till today

· about positive and negative impacts of these changes (opportunities and risks)

· about various approaches to minimize the negative impacts

Your task:

Outline a master plan for the development of a currently non-industrialized country (India) from an agrarian society and economy to a service & knowledge society.

Requirements:

a. Consider the industrialization-friendly conditions and decisions that triggered the economic development: 

i. Assess whether these conditions are fulfilled in India today

ii. Assess whether the necessary measures (decisions) could be taken in India. By whom?
b. Which short-term negative impacts on India must be expected?

c. Which long-term negative impacts on India must be expected?

d. Make a suggestion how these could be minimized if not fully avoided. Give reasons why this could or could not work.
e. Timing: How much time would the steps suggested above take?

Your written report outlining the answers to these questions must be handed in by …………………………

The report will be assessed and graded.


